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1-   

                

- ��� �� 	
�: 1,212,021 

- ���� �� 	
� : ������ ���� � ���� � ����  	!��	 � ����	 � 

2- �"#$ %#&' �(�  )
"�* +,  #-.*� ��
� #�1,234,530
*
���$ 2�3 !#�.�� . 

3- 5,870,0007#��  

4,200,000) = 450000 + 1220000 (– 5,870,000 
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5- >?� (  �#@�	  /�#(
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F (���� �#(
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9-      -  800   

- 590  /  59 

- 34  /  9  /  2 

- 10  /  100000  #'   /100#'  

- 10  /  100  /  1000  /  10000  /  100000  /  1000000 

10-   

 3 �����
   =7 ������ – 10 ������    9�����
    = 3 ������  +6������  

 8�����
     =10 ������ – 18 ������  14�����
  = 5 ������  +9������  

 4#� �$  �$ %�&�  = #' ����  	 #' �G� >H" 24�$ %�&��( �$   =6 ����� 4#' ����
B #'  

 �����
 )�   =  I�J3#' ������ �� #'  3�$ %�&��( �$   = K��12#' ����
B #'  

 3�$ �$ %�&��(  =  K��4 � #' ����
B #' 8#' ����
B #'  4�����
�( �$  =  L&$20#' ������
B #'  

11-      4����
B  

 0 = 8  ����  	 #' - 8����  	 #'  

8 	 #'   ���� =4 ����  	 #'  +4����  	 #'  

12-   #MNO � 
B�#PQ  RNO � �#��' ������    455,000,000 = 100 × 4,550,000 

13- >?�  (   C (    F ( 

 

14-   
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15-   

800 +NS� 8+�#'
B #'  . LO8 �� #' 6+� �T#U�  ��N3 .  1403 = 800 + 603 

600 +NS� 6+�#'
B #'  . LO6 !� #' 9+� �3  ��N3 . 383 = 600 - 983 

2� #' � 298+� �T#U�  +� )��N3  	�*300 . LVW3 !� #' 4+� �3   � ��N32�T#U� #' +�  ��N3 . 102 = 298 - 400 

500 +NS� 5+�#'
B #'  . LO5 �� #' 7+� �T#U�  ��N3 . LVW3 !� #' 3+� �3  ��N3 . 1290 = 3 – 500 + 793 

300 +NS� 3+�#'
B #'  . LO3 !� #' 8+� �3  ��N3 . LVW2 �� #' 8) �#E� (+� �T#U� ��N3 . 510 = 2 + 300 - 808 
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16-   

90909  >  100000 

�� 	�
S'� X�� YQ �&W 	
� Z#� �W� �'. 

500505  >  505500 

��� 	�
S' �W� Z�#�� 	
� �	 Z#� .505 !� 500[���  �W� �'. 

30100204  <  8800303 

��� 	�
S' X�� �W�� �&W 	
� Z#� �W� �'. 

204001  <  200401 

��� 	�
S' �W� Z�#�� 	
� �	 Z#� .204 !� 200[���  �W� �'. 

17-   

 

  

18-   

 

  

19-   
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20- �?#� !� �?#� 
NQ ]E&� Z#� : 30 = 1 + 5 + 11 + 13     /    30 = 3 + 5 + 9 + 13   /    30 = 1 + 5 + 9 + 15 

- 15151395  

21- �"#$ �	 Z��� �W� +T#3  Z#�	
� +^W� Z1 � 8
�N3 C#_."� ��  . 

22-   

  

23-  15 #' 1000  #� �W� ����� +�#' 150 #' 100+�#'   : 16500 = 165 +�#'
B #'  =15 +�#'
B #'  +150 +�#'
B #'  

  4705000 = 4705 +�#'���� #'  =5+�#'���� #'  + 200 +�#'���� #'  +4500+�#'���� #'  

45,000,000 = 450 +�#'
B #' ����  =90 +�#'
B #' ���� +90 +�#'
B #'����  +90 +�#'
B #' ����  +90 +�#'
B #' ����  +90+�#'
B #' ���� 

24-      ��#W600000 = 1000 ÷ 600000000 
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������� 
������� 

1-  �#��' ���� 
B– 100000�#��'  

 �#��' ������ 
B– 100,000,000�#��'  

 �#��' 	�#���� ��– 1,000,000,000�#��'  

 �#��' 	�#���� ��– 1,000,000,000�#��'  

2-   

 1000  +� ������ �� #' 	�*  :1000000000 600 #' 10�����
 +�  	�*  :6000000000 

 10000000 �$  1000 #'  +� 	�*  :10000000000  50000  #' 1000000+�  	�*  :50,000,000,000 

100,000,000,000 #� �W� ����� 100 #'   1000,000,000 1000 #' 9+� ������  	�*  :9000,000,000 

3-   

100 #' 10  ������ =  1000������ �� #'  50 #' 100  ������ < 600������ �� #'  

1000 #' 100  ������ <  10000������ �� #'  4000 #' 10  ������ >  20 #' 10	�#����  

4-   

 ���� ���	�
 ����	�
 

� � 
 � � 
 � � 
 � � 
 

0 0 0 0 0 0 0 0 0 1   
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0 0 7 0 0 8 0 0 9    

5-   
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 � 	�#���� X*120������  )  � 	�#���� RNO100������  ) Q � 	�#���� �#P80������   � 	�#���� �W )60 � 	�#���� �	 ) ������ 40 � 	�#���� �� ) ������ 20������  

���12 �%����
 )� ��� �2 �$ ���� �
��� �$ �����
 �( �$ �����
 �( 3%�45 6���� �2 � ��78 9�15 �����
 �( ��� :�. 
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6-   

 ���� ���	�
 ����	�
 

� � 
 � � 
 � � 
 � � 
 
 

0 0 0 0 0 0 6 1 3    �<�1
� 

0 0 0 0 0 0 3 4 2 1   �7� 

0 0 0 0 0 0 0 6 3 1   =�> 

0 0 0 0 0 0 7 2 1    =��? 

#E���� :�  	�"#* � 
H�W�����   
N� :������ �W � `PQ � ����	 � 	�#���� �� 

]�Q :������ �H* � 
H�W � 	�#���� ��  ]O�a :������ �b� � ���� � 
B 

c�&M� : �b" ������ X* � `PQ � 	�#���� �W:  3,046,000,000 

7-   77 ������  =40 ������  +37������  

 665 ������  =533 ������  +55 ������  +40�����  � +37������  

8- 10�Q #'   7�O1,000,000+� +?#��   	�*10,000,000 #� 7#�� 1,000,000�#��' . 

20�Q #'   7�O500,000+� +?#��   	�*10,000,000 #� 7#�� 1,000,000�#��' . 

1000�Q #'   7�O1,000,000+� +?#��   	�*1000,000,000 #� 7#�� 100,000,000�#��' . 

 �.W	 ��100�Q +�#'  �O 7500,000+� +?#��   	�*50,000,0007#�� . 

10 �.W	 100�Q +�#'   7�O500,000+� +?#��   	�*500,000,000 #� 7#�� 50,000,000�#��' . 

9-   

9,000,000,000     � 8,843,000,000 �    8,000,000,000 

60,000,000,000      � 54,968,000,000 �    50,000,000,000 

10,570,000,000      � 10,563,841,000 �     10,560,000,000 
280,860,006,000      � 280,800,006,000 �        280,750,000,000 

10-   

3,600,000,000) 3������ 
HG* � 	�#���� ( 

 

1	�#���� 2	�#����  3	�#����  4	�#����  5	�#����  6	�#����  
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                                      472,394,520,000 

 

400	�#���� 420	�#���� 440	�#���� 460	�#���� 480	�#���� 
 

11-                   100113515000  >  100113551000 6085409090  >  60854009900 

12-   

 

 

 

  

13-   

80101766001 8011766009 8013766005 

80101766001 < 8013766005 < 8011766009 

14-   2,800,000,000 = 2000 × 1,400,000 

15-   355 	�#����  =450 	�#���� – 805	�#����  

16-   634,500,000,000 = 705000 × 900000 

17-     [��600 = 2 ÷ 1200 

        600 #� �W� ����� [�� 6 #' 100[��  . �� LO100 [�� 1+."#W  �W� �.� . 

- 100000    #� �W� ����� [�� 1000 = 100 ÷ 100000 

1000 #' 100 �� � [�� 100 [�� 1W +."# �W� �.� .LO : 1000 = 1 × 1000 

18-    :� 6����� @�4$ 1 �$ 199,999,999   +800,000,000  >  1,000,000,000 

  :� 6����� @�4$ 1�$  99,999,999   +3,900,000,000  >  4,000,000,000 

19-         -         69000000   69,380,000 

- 360,000,000   360,650,000 

-  370,000,000  360,650,000 

- 
111,100,000    

111060000

89740000

21320000

+ 

- 4,200,000,000  4,164,252,000 

[��� 	
��' 

[��� 	
��' 
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��' 
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20-   

��B#T  
�*��$ #' ]��! +-��d' Z)�.����3 (   50,000,000 

�#�#�� +-��d' ��#��  �#Pe Z#�)f��� �.����3K (  360,000,000 

g�"#��� +-��d' ��#��  �#Pe Z#�)f����.����3K (  150,000,000 

 +S�-, ��, �� �#�"� �� 2�� �#��U +-��d' 	�
S')�ST	 (  36,790,000 

 

���� ������ ����  � !"# 

1-   

 

3 

 

2  

 

1 

10 � 30 � �d��	 33��"#J  

10 : 30 : 33   

":': 333010 

7 � 5 � �d��	 45��"#J  

07 : 05 : 45   

":': 4557 

1 � 40 � �d��	 25��"#J  

01 : 40 : 25   

":': 25401 

 

6 

 

5 

 

4 

5 � 19 � �d��	 59��"#J  

05 : 19 : 59   

":': 59195 

9 � 8 � �d��	 50��"#J  

09 : 08 : 50   

":': 5089 

12 � 16 � �d��	 28��"#J  

12 : 16 : 28   

":': 281612 

2-   

3-   

16 #� �W� ����� ��#W .....960 ......�d��	     . 6016× 

10 � ��#W 55 #� �W� ����� �d��	 .....655 .....�d��	  . 556010 +× )( 

35 #� �W� ����� �d��	 ...2100 ......��"#J  . 6035× 

14 #� �W� ����� ��#W ....50400 .....��"#J     .  360014× 

8 � ��#W 49 #� �W� ����� ��"#J .....28849.....��"#J .    4936008 +× )( 

11 � ��#W 36 � �d��	 20 #� �W� ����� ��"#J ....41780.....��"#J .  206036360011 +×+× )()( 

720d��	  #� �W� ����� �...12 ....��#W . 60720÷ 

266 #� �W� ����� �d��	 ....4 ....... � ��#W....26 ......�d��	.  460266 =÷ 

960 #� �W� ����� ��"#J ....16 .....�d��	. 60960÷ 
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928 #� �W� ����� ��"#J ....15 ..... � �d��	....28 .....��"#J.  60928 ÷ 

12380 #� �W� ����� ��"#J ...3 ...... � ��#W....26 .... � �d��	...20 .....��"#J 

44740#� �W� ����� ��"#J ...12 ..... � ��#W....25 .... � �d��	...40 ....��"#J 

4-   

5 � ��#W 24 � �d��	 13��"#J                            0211 ′ 

680�d��	                            92833 ′′′ 

7220 ��"#J                            0022 ′′′ 

13109��"#J                            0202 ′′′ 

                               31425 ′′′ 

5-         ��#W144246 =× 

 9845560164 =+× )(  ��#W                      164 = 20 + 144 

>?� :420607 =×       

C :���d� `�#3 �	 �� �� ��"#J Z  #� ����� �#&*60 �*h( #� LO �W� �d��	 �� #� ��"#J 420���d� �d��	   ��"#J  �#&*

420�W�  
�$�Q ��	 . 

6-                           "' 16257 267161615002520016602536007 =++=+×+× )()( 

7-   

 ':,':,':,':,':,': 001440132013001340122012 

 ":',":',":',":',":',":' 002150204020302020201020 

 ":':,":':,":':,":':,":': 2016210162001625015240152 

 ":':,":':,":':,":':,":': 1031605316003165530650306 

 ':,':,':,':,': 207406006205404 

":':,":':,":':,":':,":': 1537545365153654535515355 

8- ��i� : 

 

1510 : 1511: 3511 :

20�d��	  
1��#W  

 

K&e j�#-�  :

3511

201

1510

+

'

 

9-   

"'

"'

"'

401222

001210

400012

+ 

"'

"'

"'

594823

6433

53520

+ 

"'

"'

"'

555512

15308

40254

+ 
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"'

"'

"'

"'

155022

7510921

45585

305116

+

 

"'

"'

"'

"'

60022

665921

16396

502015

+

 

"'

"'

"'

"'

53219

536218

10597

43311

+

 

10-   

              

003123

603023

10301

5022

'

"'

"'

"

+
       

101522

707421

32445

283016

'

"'

"'

"'

+
            

"'

"

"'

53456

156

3845

+  

11-   

 

12- �3 �#�! ��Q )
��"   
�G3 7�, Z�' . 52813 ′′′ 513 ′ 

13-    "' 5593       �       "' 13259       

"'

"'

18156

5593

13259

− 

14-   

   

"'

"'

"'

37049

385511

150021
755920

−   

"'

"'

"'

13286

17208

304814

−
 

15-   

 

 

 

 

  

 

":':,":': 10301500022 ":':,":': 32445283016 ":':,":' 150063845 

< 

< 

> 

> 

> < 

"'"' 384516352016 < 

"'

"'

"'

032500

352016

384516

"'"' 50001045718 > 

"'

"'

"'

55068

500010

450718
10506

"'"' 10358451811 > 

"'

"'

"'

354302

103508

451811
7810

"'"' 00001455207 < 

"'

"'

"'

053906

552007

000014
605913
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16-  

'

'

5002

4015

3018
9017

− 

17-   

"'"'

'

"'

201518207517

3012

20455

→

+ 

18-   

'

'

'

2010

55

1510
75

− 

19-   

"'"'

'

"'

40518406517

30

403517

→

+                              

"'

'

"'

205206

564

204811
10810

− 

20-   

'

'

'

4000

506

307
906

−

/

 

21-   

"'

"'

402513

10255

050518

−

′′′

 

22-   

'

'

'

353

101

454

− 

23-   

''

'

'

12207219

403

3216

→

+ 

24-   

'

'

'

5015

306

2022
8021

−        ':': 20222010 → 

25-   

'

'

'

3514

101

2513

+ 
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26-  ��#W !� ': 258RNO �Pk!�
S�   )2* �&�" #' �-N*': 353�W�  . 

'

'

'

353

258

0012
6011

− 

  �#�! j
� !�12 )��#W ': 258 �lW� �S&e +NS� )
S� !�� �m �@�	  .   ��#lW LlO': 258 

�W#&�O��� !���O �#�! �S&e !��.  

 

27- 10 � ��#W 28�&�" )`-� �d��	   ��#W �#&� #� 2*24�W� `-� !�� .  

'

'

'

25

2810

3015

− 

�&�" !� d� )2*��  +NS� �#�! Z': 25+� �3 ��  ��N3 . ��#W ��': 5818 !�� +NS� `-� !�� 

�W +� �-N* ��W� .  

28-   

  

 

29-   

 

  

30-   

 

31- #&* 
?�' 7#W Z#PN� +"�N3 7#W / . �	#� #� �
O 
?�' 7#W Z#PN� +"�N3 7#W /#&* 
?�' 7#W Z#PN� �	#� � �
O 
?�' 7#W 

32-  !�� ��#W �-N*112* .    ��#W11 = 5 + 6   
�-N* �W �-N* �#PQ �-N* RNO �S&e �-N*  

 

33-     
�-N* �W �-N* �#PQ �-N* RNO �S&e �-N*  �-N* �W �-N* �#PQ �-N* �	 �-NGE� �-N*�	 �-NGE� 

 

 ��#W �-N*�#PQ !�� 17 #� 5�Pk!�
S�        .17 = 8 + 9 

34- 14 ��#W !� 
S� ��#W 12 ��#W +NS� )�-N*�	 !�� 2�W !��  �-N*. 

 

 

'

'

'

258

353

0012
6011

−

'

'

'

5818

025

0024
6023

−
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923/45/4  09/7

 59/11 423/9

013/21 

                

 

03/2 24/1 6/0 1/3 2/4  

27/3 84/1 7/3 3/7 

11/5 54/5  11 

54/16 65/10 

19/27 

 

16-  

865/0     1/0    024/1  
  

17-  

- 4� %8- ��� ;W��4� "���� R+!`e�)( ����� %�+�= �� ;� �, �8� "���� ��,.  

- 

999999

1000

0000001
10999990

/

/

/

−

///////

    

00101000 /− 

-  %8- %��B�   �#��010/0 �� ��� ����� 01/0 

- 

9999

10

00001
109990

/

/

/

−

/////

  

4200

1

4201

/

/

−
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18 -  

 
2/25 

82/0 

016/4 

05/0-

15/25 

77/0 

966/3

5/1+ 

65/26 

27/2 

466/5
  

19-                           

5591

504

0632
105131

/

/

/

−

////

 

20 -                                      

57933

5202

00063
10995

/

/

/

−

////

 

21-                                       

59691

5062

00302
109291

12

/

/

/

−

/////

/

 

22 -                       

923

801

005
1094

/

/

/

−

///
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��
��� ���  

  

1 -  �, <#=35/0f�! ;� �! AN@ Q�  g��9� ��$
� f�!)�#(. 

75/1 = 35/0 × 5          

  

  

  

2-  

 

1 0 2 3 

4/0  2/1  6/1  8/0  
  

6/1 = 4/0 × 4        

  

  

  

  

3 - 75/1 = 25/0 × 7 

4 -  

4/5 = 9/0 × 6 = 9/0 + 9/0 + 9/0+ 9/0 + 9/0 + 9/0  

68/1 = 42/0 × 4 = 42/0 + 42/0 + 42/0 + 42/0  

825/0= 165/0 × 5 = 165/0 + 165/0 + 165/0 + 165/0 + 165/0  

5- 2/1 = 08/0 × 15 

6 - 8/1 = 15/0 × 12 

7 -  

040
1000

40

10

8

100

5
/==× = 8/0 × 05/0  

3840
1000

384

10

24

100

16
/==× = 4/2 × 16/0  

5752
1000

2575

100

103

10

25
/==× = 03/1 × 5/2  

  

751

350

350

350

350

350

/

/

/

/

/

/

+

61

40

40

40

40

/

/

/

/

/

+
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8-  

�!�&�� ��U� �� A?�E R�@8�    A?�E %��( ���=   �4( ;� A+�Y,    �!�&�� ���  � _�h  

13/2  �  
100

213

10

3

10

71
=×  �  3/0 × 1/7  

025/2  �  
1000

2025

10

45

100

45
=×  �  5/4 × 45/0  

581/76  � 
1000

76581

10

127

100

603
=×  � 7/12 × 03/6  

9-  

710422

412400

10310

052

2206

/

/

/

×

  

68480

70160

10524

32

0835

/

/

/

×

  

4765

5180

296

47

740

/

/

/

×

  
0720

90

080

/

/

/

×  

10 -  

77/81  64/227  

  
4/3 × 05/24  

764/22  
2/4 × 42/5  

        

65/104  041/0  

  

465/10  
3/2 × 55/4  

  

  
5/0 × 082/0  

11-  

0270/0 = 4/5 × 005/0  960/3 = 2/7 × 55/0  

8/176  =85 × 08/2  417/105 = 3/15 × 89/6  

12-  

82/6 =  10 × 682/0  2/68 =  100 × 682/0  682 =  1000 × 682/0  

210 =  3/0 × 700  21 =  03/0 × 700  1/2 =  003/0 × 700  

640 =  800 × 8/0  64 =   800 × 08/0  4/6 =  800 × 008/0  

100 =  1000 × 1/0  10 =  100 × 1/0  1 =  10 × 1/0  

6500 =  1000 × 5/6  650 =  100 × 5/6  65 =  10 × 5/6  

4008 =  20 × 4/200  8/400 =  20 × 04/20  08/40 =  20 × 004/2  

13-  

5760   =900 × 4/6  16   =800 × 02/0  200   =400 × 5/0  

40400   =5000 × 08/8  900   =600 × 5/1  3   =500 × 006/0  
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14-  

56/8  6/85  856  8560  

10�����   100 �����   1000 �����   10000 �����   

-J�U� �(�E ;� ;^8, ��   

15 -  

153/16 =  45/1 × 14/11  257/4 =  5/0 × 514/8  86/4 =  12/0 × 5/40  

16-  

 

05/0× 05/0× 

80 

800 

50 

5000 

 4 

40 

5/2 

250 

2/0  

2 

125/0 

5/12 

  

17-  

56/11    =4/3 × 4/3  

56/1115    =4/33 × 4/33  

56/111155   =4/333 × 4/333  

-A��� �!�&�� �U4: ��� ���i _�h ��$ .A?�E �!�&�� �U4:_�h��� ���i J�� �$) .56/0 (  

�U4: !� ��� !�� �$ T]�j? ��� ��$»3 «
� ;e�h� 
N+ _�h A��� �$ !��8@ .A?�E !�_�h ��� ���H, !�� �$ �$

»1 « ��� ���H,  »5 «� ;e�h� 
�Y: ;� �Y4� 
N+
�8@.  

-                                65/11111555 =4/3333 × 4/3333  

65/1111115555 =4/33333 × 4/33333 

18 -  

8/0 = 008/0 × 100  8/0 = 08/0 × 10  8/0 = 8/0 × 1  

4/6 = 064/0 × 100  4/6 = 64/0 × 10  4/6 = 4/6 × 1  

2/10 = 102/0 × 100  2/10 = 02/1 × 10  2/10 = 2/10 × 1  

19-                    2/877 = 5/21 × 8/40 

20 -  kl�m� �E�4�)1(        873
2

247572
=

×/
        

 kl�m� �E�4�)2(          1233
2

45654
=

×/
  

AN@ �E�4�          2106 = 1233 + 873  

 854 /

24

7572 /

45
)(2

)(1
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21-  

A?�E  � D[��� _�h  A?�E a�:� _�h  A?�E 
Y+�W, _�h  _�h X!�Y�  

24/0 = 108 – 24/108  24/108 = 3/12 × 8/8  108 = 12×  9  3/12 × 8/8  

56/0 = 44/131 - 132  44/131 = 6/10 × 4/12  132 = 11 × 12  6/10 × 4/12  

718/4 = 282/100 - 105  282/100 = 65/6 × 08/15  105 = 7 × 15  65/6 × 08/15  

02/4 = 98/245  - 250  98/245 = 04/10 × 5/24  250 = 10 × 25  04/10 × 5/24  

22 -    

368/14 = 008/0 + 06/0 + 3/0+  4 + 10 ) =001/0 × 8) + (01/0 × 6) + (1/0 × 3) + (1 × 4) + (10 × 1(  

=) 001/0 × 6) + (01/0 × 4) + (1/0 × 8) + (1×9) + (10 × 7) + (100 × 3(  

846/379 = 006/0 + 04/0 + 8/0 + 9 + 70 + 300  

203/73 = 003/0 + 0 + 2/0 + 3 + 70 ) =001/0 × 3) + (01/0 × 0) + (1/0 × 2+ () 1 × 3) + (10 × 7(  

23-                        725/49 = 1/5 × 75/9 

24-  

                

 �E�4� d��  n8o

5/0 4/2 

25/0 8/4 2/1 

75/0 6/1 
  

  

25 -                        192 = 6/0 × 320    
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��� �(����� �(����� �(����� �(��        

1 -       ;#+JI�1        

2- ;#+JI�2 

3 -;#+JI�3 

4 - ;#+JI�1      _` gG� >�^175/0 = 255/0 – 43/0   

          _` >�^35/0 = 2 × 175/0 

5- ;#+JI�1 

 

06/3 94/5 06/14 94/10

9 20  25 

29  45 

74 

 

6 - ;#+JI�2 

7 - ;#+JI�1 

P!J� ����,  5/49 = 19 – 5/68  *-8( ���    �,  19 = 2 ÷ 38  38 = 5/30 – 5/68  

5/940 = 19 ×5/49  

8-;#+JI�4  02/0 = 5/0 × 04/0 

9- ;#+JI�2  5/3 = 5/1 + 1 + 1) = 2×75/0 (–) 4×25/0) + (2×5/0( 

10 - ;#+JI�3         
H:�  A?�E685/685 = 75/35 × 18/19   

            
Y+�W, A?�E684 = 36 × 19  

      685/1 = 684 – 685/685  
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������ � ��	
 ��
��  

  

1-      27
2

69

1

3

=
/

/×
 

- 	
�� 

- 
��
���� � ����� ��� � ������� �  !� �" 	.  

2-      ���� $%!&�        36
2

612
=

×
 

  '��� $%!&�         72 = 36 × 2 

3-    450
2

0245
10

=
/

/×
    64

2

861

1

8

=
/

×/
    12

2

46

1

3

=
/

×/
 

4-      900
2

3006
30

=
/

×/
 

5-       72
2

1212
=

×
→�.�           12=2×6                   32

2

88
=

×
 

6 -      
2712324

3242162
=÷

=×               162
2

1818
=

×
 

7- /�0 1�� 2% :        ���� $%!&�80
2

1016
=

×
 

/�4!� 	
�� 506� �.� 78� !� $9� ����� ���� 506� 	 .:; :     	
�� 506� �.� =32  

/�4!� 	
�� <��= �.� 78� !� $9� ����� ���� <��= 	 .:; :   	
�� <��= �.� =20  

	
�� $%!&�    :320
2

2032
=

×
  

2>? $%!&�  :400 = 80 + 320  

/�0 A�B 2% : !� $9� ����� 	
�� ���4 ����� !C . �  	�0 :;5��0�B 	�!&� �����  .D� E0�F G�� 0B  $%!&� �H���C

 �0 ����5�H�= �����  .      400 = 80 × 5 

8-      2F!%    �.� �B I�J      1012 = 2 × 506 

   <��= �.�        22 = 46 ÷ 1012 

 

L A

B 

6M

9M
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9-  ��
 �� �� �� ����
���  ���� �! ��� ���) .$%��� 	& �����'��� �%
(. 

660
2

2260

2

222040
=

×
=

×+ )(

  

  

850
2

2085

2

203055
=

×
=

×+ )(
  

1300
2

6540

2

651426
=

×
=

×+ )(
    

  1689672

96
2

1216

72
2

624

2

6816

=+

=
×

=
×

=
×+ )(

    

   

10-   

 

 

105060

50
2

520

2

5812

60512

=−

=
×

=
×+

=×

)(

 

 

12 

8 

5  

201232

12
2

46

32
2

416

2

4610

=−

=
×

=
×

=
×+ )(

  

 6 

10 

4   

 

11-         /�4!� �B N�OP�14 = 4 ÷ 56               56 = 2 × 28 

  /�4!�     506� 	8 = 6 - 14 

12-    	
��Q� $%!&�     NRJS�96 = 8 × 12 

   
T�
�U $%!&�)�HW9   (36
2

4612
=

×+ )(
  

      DY�0 $O&� $%!&�60 = 36  - 96  

13-      27918 =+→   

9
2

236

18
2

2810

=
×+

=
×+

)(

)(

            

 


T�
�U $%!&�  

	
�� $%!&�  

2>? $%!&� 

2H.Q&� $%!&� 

DY�0 $O&� $%!&� 

 $%!&�
T�
�U 

 $%!&�
T�
�U 

!&� $%����  

DY�0 $O&� $%!&� 
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          GH�!; 
T�
�U $%!&�66
2

41518
=

×+ )(
  

2>? $%!&�   :300 = 54+180+66  ⇒                 2H.Q&� $%!&�  180 = 12 × 15  

    S!� 
T�
�U $%!&�54
2

41215
=

×+ )(
  

   

  

708258450

258
2

121528

450
2

3030

=+

=
×+

=
×

)(

   

 

14-           	
�� <� $%!&�54
2

129
=

×
 

      2>? $%!&�216 = 54 × 4  

15-  
16

10
 

 $%!&�����  

 $%!&�
T�
�U  

  $%!&�2>? 
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����� �����  

1-   

����) *�+
  ����) �,-  ����) .�/
  

12/25  8  4  

24/50  16  8  

4/31  10  5  

98/21  7  5/3  

13/14  5/4  25/2  

2-   

 

 

195/14 = 14/3 × 75/4

 

 

754 /

  

42/9 = 14/3 × 3

  

 

3

  

3- 15  /  1 
� 2  /  90  

4-   

 

510/

  

 

253 /

  

 

7

  

97/32 = 14/3 × 5/10  41/20 = 14/3 × )2 × 25/3(  98/21 = 14/3 × 7  

  

5-   
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942  =14/3 × 300  

471 = 2 ÷ 942  

1413 = 3 × 471  

1563 = 150 + 1413  

2512 = 14/3 × 800  

1884 = 
4

3
 × 2512  

2684 = 800 + 1884  

942 = 2 ÷ )14/3 × 600(  

2742 = 1800 + 942  

 
  

100M
0

  

 
 

  

2/251 = 14/3 × 80  

2/411 = 160 + 2/251 

314 = 2 ÷ )14/3 × 200(  

594 = 120 + 160 + 314 

314 = 2 ÷ )14/3 × 2 × 100(  

714 = 400 + 314 

   

    
1256 = 14/3 × )200 × 2(  

628 = 2 ÷ 1256  

314 = 2÷628       628 = 14/3 × )100×2(  

1142 = 200 + 314 + 628 

314 = 4 ÷ )14/3 × 2 × 200(  

714 = 400 + 314  

1570 = 14/3 × )2× 250(  

785 = 2 ÷ 1570  

1285 = 500 + 785 

 

6 -       [�� \H]�          57/1 = 14/3 × 5/0 

  9106 = 5800 × 57/1  

7-    [�� \H]�     157 = 14/3 × )25 × 2( 

  109900 = 157 × 700  

8-    3/141 = 14/3 × 45 

  5/78 = 14/3 × 25  

  8/62 = 5/78 – 3/141  

9-    	6H��0 �.�            5/3 = 1 + 5/2  

  99/10 = 14/3 × 5/3  

10-     8/376 = 14/3 × )60 × 2( 

  8/496 = 120 + 8/376  

11-   ���� GH�!; '�J �I!Q= 0B»6M «$9�.  �H� �B \H]�     /���B12/25 = 14/3 × 8 

      2>? \H]�12/31 = 6 + 12/25   

12-  
���Q9� \H]� !� $9� ����� �B!= `a!= 1�b)/���B \H]�
���Q9� 	S!� 	(  8/62 = 14/3 × 20 
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13-         ���H� \H]�157 = 14/3 × )25 × 2( 

  1884000 = 12000 × 157  

14-     /�HOc \c 1�b
3

1
$9� /���B     .

3

1

360

120
= 

  942 = 14/3 × )150 × 2(  

  314 = 3 ÷ 942  

  614 = 300 + 341  

15-    

/���B \H]�  /���B�.�  /���B N!d?  

314  

628  

942  

1256  

100  

200  

300  

400  

50  

100  

150  

200  

 D� 
PHQ� He��� �0 /���B �.� � /���B N!d? /!e�  
= 2 !� 3 !� 4 !�  ... 6H� �" \H]� ��H�= �����2 !� 3 !� 4 !�  ...D� ����� B�?. 
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���� �  

1- 22   fd>�    /20   fd>�    /30fd>�   g� $O9 �&h �P% 

2- fd>� B��dC D� �0 <��= 	!  ��0!O? :66DQ�!9  fd>��Q� / �Hc 

3- �Hc 

4- 50DQ�!9    fd>��Q�/  56DQ�!9    fd>��Q�  /100DQ�!9  fd>��Q� 

5- »7�� « 
�»4 « -» I « 
�»1 « -» L « 
�»3 «-» B « 
�»2« 

6 - 2 / 16 / 128  

-/
���� 	! �%�� ���  $9� E�!WQ� 	�He . 

7- $O&� �B�= 2F� !�  B��dC �  
� ! 15D� 2H>iC �%�� fd>�  B�? . !� $9� ����� �&h �P% D�d�15DQ�!9  fd>��Q�. 

 N!WC0� × j�4 ×1�b  

15=   3 ×   1  ×  5  

8- DQ�!9         fd>��Q� 10200 = 20 × 17 × 30        /         DQ�!9    fd>��Q�1400 = 10 × 8 × 5/17 

9-            9/6 = 2 × 5/1 × 3/2                /                    512 = 8 × 8 × 8 

10-    

 

 1�b × j�4 × N!WC0�

8   = 1   ×  2   ×    4 
 .B�HY� 0��� GH�
 	�0 !�k; 
� 2H.Q&� fd>�


��0 
h� DQd� .B�HY� 0��� GH�
 	�0 (506� 
h�) �0
 

11-    

 

5M  

2M  

3M  

  

 

3M  

3M  

3M  

  

 

4M  

4M  
1M  

5/1M 2M  2س

  
  

30 = 5 × 2 × 3  27 = 3 × 3 × 3  

16 = 1 × 4 × 4  

6 = 5/1 × 2 × 2  

22 = 6 + 16  
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12-  

13-      250 = 10 × 25 

  14 = 250 ÷ 3500 

14-   

 �&h 2= �P%          384 = 8 × 6 × 8      �&h 2= �P%:            700 = 7 × 10 × 10  

/���� $O&� �P% /�?   144 = 6 × 6 × 4      /���� $O&� �P% /�?        :112 = 7 × 4 × 4  

      �&h �P%         240 = 144 – 384       �&h �P%  :            588 = 112 - 700  

15-    68/2095 = 6 × 8/14 × 6/23  2�!= �&h �P%           4320 = 24 × 15 × 12 

  24/438 = 6 × 4/4 × 6/16   /�? /���� $O&� �P%      960 = 8 × 12 × 10  

  44/1657 = 24/438 – 68/2095   �&h �P%                   3360 = 960 - 4320 

16 -     50 = 2 × 5 × 5   180 = 4 × 5/7 × 6        !�   540 = 12 × 5/7 × 6 

  18 = 2 × 3 × 3  120 = 4 × 5 × 6                 60 = 4 × 5/2 × 6  

  32 = 18 – 50  60 = 4 × 5/2 × 6                   120 = 4 ×5 × 6  

    360 = 60 + 120 + 180    !�     360) = 120 + 60 (- 540 

17-           
ldh �P%42000 = 20 × 30 × 70 

   
Q&� <� �P%      1000 = 10 × 10 × 10  

  
Q&� B��dC   !        42 = 1000 - 42000  

18-      105/0 = 3/0 × 5/0 × 7/0  

  4/8 = 105/0 × 80  
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�������
  

1-  �=  �C /mH� �C 

2-   

3- /�0 1�� 2%  :  DQ�!9     fd>��Q�3000 = 1000 × 3 

  
4

1
 !� $9� ����� �QH� 250DQ�!9  fd>��Q� .:; :     ���H�12 = 250 ÷ 3000  

  /�0 A�B 2% :  12
1

4
3

4

1
3 =×=÷  

4-   �QH� / D9 DQ�!9 !� D9 D�H� !� fd>��Q�   �Q�  / �QH� / DQ�!9 fd>��Q� 

5-   

2 �QH�  =2000D�H�  �QH�  
4

1
 �QH�  =250D9 D9   

 �QH� �H� =500DQ�!9  fd>��Q�  125DQ�!9   fd>��Q� =125/0�QH�  !� 
8

1
�QH�   

5/6 �QH�  =6500D�H�  �QH�  
5

4
2 �QH�  =2800D9  D9  

  

6 -  
4

3
   �QH�    /75/0  �QH�  

  
1000

4200
  �QH�   /

1000

200
4   �QH�    /2/4 �QH�  

7- 186000 = 1000 × 186   /   409000 = 1000 × 409 

  48060 = 1000 × 06/48   /   147250 = 1000 × 25/147  

  14 = 1000 ÷ 14000   /   88 = 1000 ÷ 88000  

  431/0 = 
1000

431
  =1000 ÷ 431   /   857/6 = 

1000

6857
 = 1000 ÷ 6857 

8- �= �QH� �H� 
� �C :495D9   D9– 75D�H�  �QH� 

�H� ����� �QH� :500D�H�   �QH� - 
2

1
H� �Q  

mH� �QH� �H� 
� �C  :
5

6
 � �QH� 

5

2
1�QH�   
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9- 
��O� <� : GHY�5/7���H� ��0B �0 $��? �QH�   m�!P�e 
� D�! 250D9  ��= D����`; �!�!Ok� 
� !C $n�0 D9 . ��� !�

/B�= D����`; �!�!Ok� 
� $��? ���H� o$9� 

10- p�9 �P%   :14 = 18 – 32 

11-   

75/0�QH�   =  
4

3
�QH�   =  750DQ�!9  fd>��Q�  

8/0�QH�   =  
5

4
�QH�   =  800DQ�!9  fd>��Q�  

25/3�QH�   =  
4

1
3�QH�   =  3250fd>��Q� DQ�!9   

4/5�QH�   =  
5

2
5�QH�   =  5400DQ�!9  fd>��Q�  

  

12- 
10

6
5 �QH�  =6/5 �QH�  =5600DQ�!9  fd>��Q� 

13-     6/0 �Q�  =60DQ�!9   �Q�   /4/0 �Q�  =40DQ�!9     �Q�   /2/0 �Q�  =20DQ�!9  �Q� 

    DQ�!9      fd>��Q�48000 = 20 × 40 × 60  

    200       0!� 200 = 240 ÷ 4800  

14-  � $4!9�B 5
TH�B   125 = 8 ÷ 1000 

15-  � 8$4!9 D�   	
�0 B�?30!�  .  D9     
�0 <� 0B D960 = 20 × 3 

    D9    
QW  <� 0B D9420 = 7 × 60  

        
QW  <� 0B �QH�420
1000

420
1000420 /==÷  

16 - 95/5 �QH�   )///( 955207514 =++  2/0 �QH�  =
5

1
�QH�  

- 85/10�QH�   )////( 85108285252 =++              8/2 �QH�  =
10

28
 = 

5

14
   �QH�    /25/2 �QH�  =

4

1
2�QH�   

- 7/2 �QH�   )////( 7285025061 =++            25/0 �QH�  =
20

5
    �QH�      /6/1 �QH�  =

10

6
1

5

3
1 =�QH�  

17-      T�    /�? $90B p�0 0��95/13 = 5/8 + 45/0 + 5 

  3 q�r 4D� 	�QH�   B�?12�QH� .  

    D� D�!� p�0 �QH� ��!�   .95/1 = 12 – 95/13 



����  ����	 	��
����
���
 � 

 99 

        

��� 	(����� 	(����� 	(����� 	(��        

1 -     
��6e 	2s       '��� $%!&�800 = 2 ÷ )40 × 40( 

           DY�0 $O&� $%!&�200 = 4 ÷ 800 

2-     
��6e 	2s.� 
= $9� 	
�� <� 2F!% 2>?  �.� � 2H.Q&� 1�b !� ����� �" 506� �

$9� 2H.Q&� j�4 !� ����� �" <��= .  345 = 2 ÷ )15 × 46( 

3 -    
��6e 	3s    2H.Q&� 1�b)
T�
�U 506� /�4!�   (40 = 20 ÷ 800 

      650
2

202540
=

×+ )(
 

4 -     
��6e 	1s      /�4!� �B N�OP�48) = 18 + 12 (– 78 

      $l&� N�OP� !   :                 8 = 5 + 3  

      288
2

121830
=

×+ )(
   

 

488

183

301848 =−

 

5-     
��6e 	4s  

6 -     
��6e 	3s   628 = 14/3 × )100 × 2( 

      471 = 628 × 
4

3
  

      671 = 200 + 471 

7 -     
��6e 	1s  1256 = 14/3 × 400 

      2456 = 1200 + 1256 

8-    
��6e 	4s B �.�/��� /���B �.� 78� 1�� 	 $9� A�B 	 ./���B 78� 6H� �" \H]� :; $9� A�B 	. 

9-     
��6e 	2s/�0  1�� 2% :  56/12 = 6/125 – 16/138      
16138143222

6125143202

//)(

//)(

=××

=××
 

    /�0 A�B 2% : N!d? 
� DQ��2DQ�!9   �.� 
� B�? 
t!J� �Q�4DQ�!9  D� 
t!J� �Q� B�? .:; :56/12 = 14/3 × 4 

10 -   e
��6 	3s /
���� 2>? �B \H]� qRQc� D� I!&% 
� \H]� �6h $9�0 $O9 2>? 0B 
= $9� /���B �.� �B 	 ��". 

72 = 36 × 2 
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11-   
��6e 	2s   
6

1

360

60
= 

           /���B \H]�942 = 14/3 × )150 × 2(  

      157 = 6 ÷ 942  

      457 = 300 + 157 

12-   
��6e 	2s.Q&� fd>� B!d�� �e�  �0 2H3 �" �P% ��H�= ����� )3×3×3 ( D�d�27D� �����  B�? .:; : 

      ���h 2H.Q&� fd>� �P%           4050 = 27 × 150  

      3900 = 150  - 4050 

13-   
��6e 	1s  

14- 
��6e 	4s   4000 = 5 × 20 × 40 j�4                      20 = 2 ÷ 40 

15 - 
��6e 	2s   1�b       8 = 3 ÷ 24 

      N!WC0�       4 = 8 ÷ 32  

      96 = 4 × 3 × 8 

16- 
��6e 	1s  

17- 
��6e 	2s   15000 = 15 × 25 × 40 

      15000DQ�!9   !� $9� ����� fd>��Q�15  �QH�          15 = 1000 ÷ 15000 

18 - 
��6e 	4s 

19- 
��6e 	4s 

20 - 
��6e  	2 s  480 = 4 × 12 × 10 

      
TH�B           16 = 30 ÷ 480  
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��� :������� � ���  

 

��� ���� �	
�� � 
��� 
�  

1 -  

���� ���	 
��
��� ���	�	 �� ����  	��. 

-  ����� ��� ���	�	 ������ �� ���� 	��. 

- �� !� "� "�# $��% $&� ��"�# ' �	�� &(  )*+��+�,-� 

- �� !� "� "�# $��% �	�� &(	&+ ��"�# '  )*+��./� 

-  '��	 ��"�# $��%�	�� 0�12� ���  )*+�3��,-�#�45 � �,-� 

-  	��20 

  

  

 
2- �8�9 

- ��48 � "�-�&:  

- 4"�#  

  

  

3 - �/4� 

- 5/17��#	  

 32 ـ 20 = 12 -

 25 ـ 5/17 = 5/7 -

�	�	 ������  

���  ��	#�&:  *B4,�	#�  	�	&�  & (  	�	&�  #��&4�  &4�  0��C  #DC  '	  �/4�  �-�+�  

��	  17  5/17  25  30  32  28  25  20  5/17  10  5  15  

 

 

27 
5/26 

26 
5/25 

25 
5/24 

24 
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23 
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4 -  
  

  

  

  

  

  

 ����
20

3

200

30
=      & -9  

4

1

200

5
=  

& �    
5

1

200

40
=      *+��  

5

2

200

80
=  

5- %15
100

15

20

3
== :����    %25

100

25

4

1
== :& -9 

%20
100

20

5

1
== :& �      %40

100

40

5

2
== :*+��    

6 - %40
100

40

10

4
==      %20

100

20

10

2
== 

7 -       
12

5

36

15

360

150
== 

%25250
4

1

360

90
→=== /  

 ��,�21� �� O��&� */1P50*+� ��#	 .      
36

5

360

50
=  

12

1

360

30
=  

8- Q�-4�    
1200

600

100

50
= 

�2�R9    
1200

360

100

30
=  

S��%&(�     
1200

240

100

20
=  

9-  

 

 "#�$ %&' (���)* +,�

 %25
100

25

4

1
==  

4

1

360

90
=   �,TP

 %15
100

15

20

3
==  

20

3

360

54
=   �1�-(

 %15
100

15

20

3
==  

20

3

360

54
=   �8���

 %10
100

10

10

1
==  

10

1

360

36
=   * ��/1�

 %35
100

35

20

7
==  

20

7

360

126
=   �U8�+

  

 V-� W�8 (  $&��T % ) #��!� �X#	

 & -9

 *+��

 ����

  & �
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10 -  


��	 (�	2��  �,-�  �,-B2�  �,-��	  �+ �,-�  �,-�#�45  

3��' $�"45 �	  20  15  17  12  19  

 

 
11- $�+ � $�	 

YZ-9 � $#�45  

20&���T %   

40&���T %   

12-  

  
  

  

10 �( 12  -  10��#	   

8��#	   

 *��+ "�12 �( 14����	 K��% ��#	 �	 � . *��+ "�14 �( 16 :

*+� ����	 K��R:� ��#	 #�45.  

13-   
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14- *�# 
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���
�����  

1 -  
 

6 

11 

7 
8 8 8 

8  = 3  ÷ 24  24  = 7  +  6  + 11   

2- 5
4

546554
=

+++ //
 

3 -  
 

  

�# �� _5 "� �*+ ��� 0��+ "�)3&�C  ( "� �

�� &� &�C 3� $�	 0��+ � Y�#�	 "�)4&�C  (  

3�� #�&P $#�45 0��+ '�# &�C 3� � $�+ 0��+ '��&�C '�# &�C Y �	.  

4 - 5
4

20

4

8453
==

+++
 

R�&P  

W�-�� #��T�  

5-   

�/4�  '	  #DC  0��C  &4�  ���  

19  20  16  20  17  ^�&4+  

16  18  20  18  19  �/4�  

5/17  19  18  19  18  &�8 �	 � J8� �  

6
4

24

4

5379
==

+++
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6 -    550=  112 + 115 + 110 + 108 + 105  

110 = 5 ÷ 550  

2 �( )112 � $&� 115$&� (  
 115 

114 
113 
112 
111 
110 
109 
108 
107 
106 
105 
104 
103 
102 
101 
100 

  

7 -         6 = 5 ÷ 30   30 = 10 + 8 + 6 + 4 + 2 

8-          

9-     18 = 6 ÷ 108            108=  19 + 75/17 + 20 + 25/18 + 17 + 16  

10 -    468 = 18 × 26 

11-     e+� 	�� 

  � 

  ��� ��#  9 � 8 �7 

$�	 ��#  9 �8 �7  e+� 	��         8 = 3 ÷ 24  	�� �+ W�/Z�          24 = 3 × 8  

12-    25
3

321825
=

++
 

 ����� �,P 	�� �+ � J8� � 0�/� 	�� #�45 � J8� � �Y�& J� &f8 #	 $#�45 	�� �# 	�� �+ � J8� � &����.  

  25
4

25321825
=

+++
 

13-     72 = 19 + 16 + 20 + 17 

  18 = 4 ÷ 72  

 � J8� � �� &��&� �� YZ-9 0��"C �&/8 &��4�/8 &  g( �� 
�&/8 � J8� � ����� �T,P 0��"C �-%.  

  90 = 18 + 19 + 16 + 20 + 17  

  18 = 5 ÷ 90  

14-        � J8� �)e+� 	��(    14 = 5 ÷ 70 

  16 – 15 – 14 – 13 – 12  
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15 - ��� �h ��# :  � J8� �      3 = 20 ÷ 60 

   48 = 3 + 45  

$�	 �h ��#:  900 = 20 × 45  

  960 = 60 + 900  

  48 = 20 ÷ 960 

16-         

       90 = 18 × 5 

                  YZ-9 	��16 = 74 – 90) = 20 + 12 + 18 + 24 (– 90  

17-     150 = 12 ÷ 1800 

18 -     5 = 7 ÷ 35        35 = 8 + 7 + 6 + 5 + 4 + 3 + 2 

  5 = 7 ÷ 35    35 = 1 + 2 + 3 + 4 + 5 + 6 + 14  

  5 = 7 ÷ 35    35 = 1 + 2 + 3 + 4 + 5 + 8 + 12  

19-    16 – 15 – 14 – 13 – 12 – 11 – 10 – 9 – 8  

  � J8� �  

20 -     14 – 12 – 10 – 8 – 6 

    � J8� �  

21-           Y�B� 	��11 = 37 – 48) = 3+ 5+  0 + 7 + 4+  8+  10 (– 48          48 = 6 × 8 

22 -     15 i 14 i 13i  12  i11 i 10 i 9 

  e+� 	��  

23-   10 – 8 – 6 

  e+� 	��  

24-    54 = 9 × 6 

  23 Z� 	�� #�45 W�/5 � 4 � 6 � 8 *+�      23) = 28 + 3 (  -54  

   "� �%3j#R�  "� &(2835�% �8&(.      8 �6 �4 �5  

25 - 15 = 17 ÷ 255 

26-     23i  21 i 19 

  e+� 	��  

27- �h�� #�45 �	 "� �% �# ' 	���	&% Y%� Y��� 4�� �:�k� �h�� 3� $��% &� �� &J�	 	�� Y -%. 
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��� ������������� �  

1 -  

2-  

•••• �� 
I�4Z� "� '#� 1� lB% m��� K8�	 *:&B 9 	��) .�( 

••••  	�� Y�"��- � �# Q�( 3� &��4��  ��C) .- (         

••••  �8��#�% 3� #	420�� #�% 0" � 	&� &�#�%  �% �--% 
5

7
0C  �-�1� 	&� ��) .×( 

•••• ����" �	 '�#�	 �n�Tn� �� �/o�P ' ����) .×( 

••••  �&�" � �&�" ��+ p
���5*+�  .100C ��+ p
��� &J�	 ��+   0�/� ��5*+� ��+ ) .�( 

•••• *+� '&�� ��� ��� *B4,�	#� '��"�# "� �2� .����� 0�#�� V9 ��#��(+) . 

3 - �J8#0C 	��.( 0�5 � ��K �*+� &(. 

- Y% 0�2��  

- 	��" 0�2�� 

4 -  

 

 

  

 �         �  9���  

 

   �         � $�:2 ;�<��  

 

   �         � =�>-�=�>-�  

 

   �         � �' ;�<��  

 

   �         � ?<��%)@  
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5-  

••••  '�# ��1��� :Y% 0�2��   

••••  '�# ��1���  :Y% 0�2��  

••••  '�# ��1���  :��Z-9��Z-9  

••••  '�# ��1���  :�2/�& q  

••••  '�# ��1���  :�Y% 0�2�  

6 - �	#��#����K � 0C 	��.( 0�5 �*+� &(. 

7 -  
 

  
8- 

 

0 1
 

 

0 1  

 

0 1  

 

0 1  

 

0 1  

9-  

lH� (�T ( �� 0�& � �% '� R�&P r�/�h Y�#�C����  :e!:10 R�&P �(  

^ (K � �T ( 0	�� R,+ 0�2�� ���� &J�	 s8# �	 "� &( :10Y% �5 &� &J�	 '�( �	 "� � R,+ �( &�4� &(  

\ (Y% �T ( 0	�� ��C 0�2�� ���� &J�	 s8# �	 "� &( :1 �( &J�	 s8# �	 "� � ��C 	��10�� �T ( Y 8��(.  

	 (9 ��Z-9 �T ( 0	�� R�&P � 0	�� R,+ 0�2������ ��Z-: 10 � R,+ �T ( 10R�&P �T (    

i� (���� �2/�& q �T ( 0	�� R�&P:�T ( e!: Y�"��- � �1 % 0�#	 �# ��C � R,+ '��.   

10 - �T� 
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11 - �� r
n� Y 8��(4 � R�&P �# */1P 2� R,+ �# */1P 2K � R�&P s8# �% '#�� &J�	 �2� �� �� Y -% ��C �# */1P ���� &(. 

12- �� s8# '#��s8# Y -%���� &��&� �Z8#�8 � 	#" '�� . r
n�4 � 	#" */1P 4 � �Z8#�8 */1P 2��4P */1P '�. 

13-  �� Y 8��(6 � R,+ �# */1P 2Y -% 	#" �# */1P . 

14 -    �� +     ��C   R�&P   

                  23  = 1  + 12  +  10   

15 -  

-  39#��  

-   	��6 

-   	��4 

-  & � 

-   	��5) 10#�� ( 	�� &��&� �	 �% 1) 5#��  (*+�.  

16- K � � �+ '�# ��&!� 0	��1�� ��/�h� 0�5 �& �*+� &(. 

-	&% �J8# ���� �# &J�	 */1P 3� . 

17- 	#�	 &��&� ��/�h� 0C 0��C *B9 �� �# � 	#�	 �# �	 �2+ 0�5 ��T� . 

18 -  Q�( 0�5 ��T� 6 �% 	#�	 ��� 3	&: 	�� 0C ��� �+ � \�" 	�� 0C ���  .#�	 &��&� ��/�h� Q�( 0��C 	&: �� \�" �-.�	. 

19-  s8# &� "�15 �&4� )��Z-9 � ��Z-9( 

20 -  

  R�&P 

 R�&P 

��C ��C 

	#" 

	#" 
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��� 	(����� 	(����� 	(����� 	(��        

1 -   �-�R�' 2.  
3

1

36

12

360

120
== 

2- �-�R�' 4.   

3 -�-�R�' 1. 

4 - �-�R� '3.  582120555258258863 /)/( +−=× 

5- �-�R� '3.          	�� �	 W�/Z�3501752 =× 

      *,18 t/�        ��     7 = 4 + 3  

6 - �-�R� '3.  9
5

121518
=

++
                $�T.� �8 	�� �+ W�/Z�      18 = 6 × 3 

7 - �-�R� '1.    760 = 4 × 190 

  760 ـ) 150 + 180 + 210 = (760 ـ 540 = 220      

8-�-�R�'4.  50000 = 100 × 500 

      4 = 50000 ÷ 200000  

9- �-�R� '3. 

10 - �-�R� '2.  

 4 

7 

200 

350 

j#R� 	��&(  

t/� 


